Cross b/w parallel lines / Z shape (SH= &Iﬁ?ﬁl):




|4. In the figure BC || AD. Find the
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1% ABCD is a trapezium in which AB ||
DC and its diagonals interest at P, If
AP =(3x—1)cm , PC =
(5x—3)cm, BP = 2x+1)cm
and PD = (6x —5) cm, then the
length ois:

ABCD U& TFaH § @ AB |
65 _ 5%-3 @) Gxu=12 D€ IR 38F RFoh p ¥ Fech
24 —,ﬂ_, -3 g] I AP = (3x—1)cm, PC =

a9 (5x—3)cm, BP = (Zx%+;r) cm
< 57§ d491 PD = (6x—5)cm DB
x C\)O f dFaTS §:
31k j12cm b) 10 cm
\/ c)14 cm d) 16 cm

|SSC CGLT1, 06 Jun 201951 | 3



(¢- ABCD is a trapezium in which AB is
parallel to CD and AB = 4CD. The
diagonals of the trapezium intersects
at 0. What is the ratio of area of
triangle DCO to the area of the
triangle ABO?

ABCD TUF gHAFT § o
AB,CD & THAWAY § dUT AB =
4cD & §AGF & @@ 0 W
yfaeds #a 8| e pco &
a%ma:rﬁmrwoﬂ:aﬁm#
wm%’?

a)1:4 b) 1: 2
c)1:8 ﬂ1:16

| SSC CGL T2, 21 Feb 2018 | 4



|#. D and E are points on the sides AB and
AC respectively of AABC such that DE is
parallel to BCand AD : DB = 4:5, CD
and BE intersect each other at F. Then the
ratio of the areas of ADEF and ACBF
AABC#Y a3t AB 3R AC ¥ D 3R
E faeg 30 ¥R § av 7w § &
DE,BC & WAA & 3 AD: DB =
4:58 | €D 3R BEF RAeg W &
# FTed § | ADEF 3 ACBF &
Pl AHeJUTd 1V |
a) 16 : 25 \yf 16: 81
c)81:16 d4:9

| SSCCGL T2, 12 ?an 2017 |



[8- In the adjoining figure (not
D drawn to scale) AB, EF and CD
are parallel lines. Given that

A EG =5cm,GC = 10cm and
DC = 18cm. Calculate AC, if
E 18 AB =15 cm:
I5 g sG & it amefa F As, EF IR
S D WARR §IR  EG =
B . C 5¢cm, GC = 10cm 3R DC =
18cm af AC $r FFa1S aqT3
;5}3’__'_;5 Ife AB = 15 cm:
___‘_é_' - a)21cm ){25 cm
E AQ c)18 cm d) 28 cm
A(,: Qs




[9. In the given figure, ABCD is a
A 2\’\ D rectangle and P is a point on DC
such that BC=24 cm, DP =
6 |O 10cm, and CD = 15cm. If AP
produced intersects BC Produced at

& | S Q.. Find the length of AQ.
1 ,\ & ¢ smsfa A, ABCD v 3T
1 3R P DC W & &g 30 TR
B

g
¥ & BC =24 . DP =
2 10 ¥ 3k cp = 15 A Bl
. gfy Ap + R@=m aar € S BC
o

AR
'S
<

v O
R
N
jo

| SSCCGL T2, 18 Nov 2020 S1 | 7



20.PQRS is a parallelogram and
2 its area is 300cm?. Side PQ is
| extended to X such that PQ =
QX. If xs intersects QR at
Y, then what is the area (in
cm?) of triangle SYR?
PQRS U& WHTaX ISt 8
aYr 300cm? @] S PQ #
x 9% 39 9§ 9STT IAT ¥
" Po=0x & dfe
XSQR® Y WX &ledr g, ar
BesT SYR 1 &%d (cm?
) T ¥2

75 b) 50

c)120 d) 100

| SSCCGL T2, 09 Mar 2018 | 8



2). In the given figure, MNOP is a
parallelogram. PM is extended to
Z. OZ intersects MN and PN at
Y and X respectively. If OX =
27 cm and XY = 18cm, then
what is the lenght (in cm) of YZ?
& € mefa H, MNOP
AR a?raﬁfr g PM # Z &
derar ?I'qT | 0Z, MN 99T PN
H HAW Y AT X W Yidede
Xt 8] I 0x = 27cm aur
XY = 18cm %,a’ryza?rmﬁ
(cm ®) Fa1 872
a)21.4 22.5
c)23.8 d) 24.5

|CGL 2017 T2 | 9



22.In the given figure, F and F
are the centres of two
identical circles. What is the
ratio of area of triangle
AOB to the area of triangle
DOC?

10

| SSCCGL T2, 18 Feb 2018 |



CD are parallel lines. Given EG =
5cm, GC=10cm, BF:FC=2:1
D and DC = 18 cm, then AB is equal

18 améamtﬁr:ﬁrAB EF 3R cD
FAT=AT @IV §| 39 EG = 5 cm,

A (_5,» In the adjoining figure, AB, EF and
HW

B F C GC=10cm, BFFC=2:1 3R
«——21—><— 3 pc=18cm ¥ 4B =?
A EGF ~ A Gep [$AY f'l&MLJ a) 18 cm %27cm
EG _ EF =Y 5 - EF—-)’ﬂ c) 24 cm d)30cm
GC  DC ‘Q IQ
9n O CAB, EFIIBA
_C_F—z EE— =) —‘2 q— x3
B A'Bl




Misc & rare

Special situations creating

similar triangles:

Sim\ax.b, iﬁzﬂmﬂﬂa

o nI- oh ')4[}

13



Intercepts in equal ratio (HHIA Gﬂqﬁﬁm

A7 Y% 2% 2. cw

m im
Z N3 x lem

n —> .
\51 % 3% 3w

L




4. In the given figure AB || CD ||
EF || GH and BH = 100 cm.
Find the value of DF:

faeT R & AB | CD | EF |
GH 31X BH = 100 cm §| DF
T HTed:

a)26cm b)40cm

A25cm  d) 24 cm

| | 15



Some more situations:




2. The Olympics committee made a new rule. The flag of the gold

medal winning team would be hoisted to the right (AB) at 5 m.

Q The flag of silver medal winning team would be hoisted to the

N 5 left (PQ) at a height of 3 m. The flag (MN) of bronze medal

winning team would be hoisted at the point of intersection of

the line joining the top of each of AB and PQ to the foot of

M 8 <. other, as shown in the figure below. A and P are 8 m apart. In a

wrestling event, India won the bronze medal. Find the height at
which the Indian flag was hoisted.

I |
MN & 13 el GIATA O o o S Im§| Tt e St arel
€A T AeT el 3T (AB) W 5 m HEIHT STCaN| TSl Ueeh
- % St areh & &1 gist a§ HW (PQ) 3 X N FuE W
IS e SIUIT| HIET g Siael arell &7 &7 $3T (MN) AB 3R

PQ UAF & i & et arelr Y@t F Badew
HEIT STCer, ST R A e v Ry & Rm@rr war g1 A
sk p gl & araer & vEh Fed yfadfaar F sma & sy
Wsﬁmlﬂmﬂtreasrmmwwmwm?

15

T O
17




3. B, is a point on the side AC of AABC and BB is
joined. A line is drawn through A parallel to B;B
A meeting CB at A; and another line is drawn
through C parallel to B;B meeting AB produced
2 at C,. Then
AABC #Y 85T AC T B, U& fawg ¢ 3K BB
| F WA A ¥ g UF @ gidt St §
A St CB ¥ 4, W e & 3tk BB
q AT AT
1

| SSCCGLT2, 1 Dec 2016 | 18
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